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ECONOMICS SSC-II
SECTION - A (Marks 15)

Time allowed: 20 Minutes

NOTE: Sectlon—A is compulsory. All parts of this section are tc be answered on the question paper itsell.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not aliowed. Do not use lead pencil.

Q.1  Circle the correct option l.e. A/ B/ C/D. Each part carries one mark.
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B ) In budget 2014-15 of GDP was spent on literacy.
A 4.0% B. 1.0% C. 2.0% D 8%
. (i) According to budget 2008-09 per-capita income of Pakistan is:
B A $776 B. $1085 C. $768 D. $500
. (iii) Damages of fertile soil/land due to floods and severe wind/rain storms etc. is called:
A Water logging B. Salinity C. . Soil erosion D. All of these
a (iv) Bonds, Government securities, insurance policies are money.
o A. Credit money B. Near money C. Paper money D. Metaliic money
v) If price of sugar increases from Rs.30 to Rs.40 it means:
. A Value of money decreased B. Value of money increased
B C. Purchasing power increased D. Value of money remained the same
n {vi) Which of the following economy does not use money as a medium of exchange?
A Open B. Islamic C. Close D. Barter
[ ] {vii) Pakistan introduced profit and loss sharing accounts (interest free banking) in:
n A 1970 AD B. 1963 AD C. 1981 AD D. 1975 AD
{viii) Pakistan is basically a / an country.
n A Agricultural B. Industrial C. Developed D. Rich
] (ix) Pakistan spends huge amount of foreign exchange on import of.
B A Eatables B. Rice C. Petroleum D. Cotton
{x) Usually Pakistan’'s balance of trade is in:
. A Deficit B. Balance C. Surplus D. Profit
B {xi) Under public finance, the government can cover the budgetary deficit by:
B A Increase in production B. Increase in revenues |
C. Printing of currency notes D. Decrease in money supply :
A {xii) Under-developed countries havea ____ rate of economic development. ‘
] A Slow B. Fast C. Rapid D. Quick
(xiii)  Which economic system permits concentration of weaith?
u A Islamic economic system B. Socialism |
[ | C. Capitalism D. All of these
N {xiv)  Literary meaning of Usher is: |
A Charity B. Purity C. 10% D. All of these
a (xv) Zakat is paid with the rate of:
] A 3.5% B. 2.5% C. 4.5% D. 1.5%
N For Examiner’s use only:
Total Marks: 15 l ‘
n
Marks Obtained: D
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ECONOMICS SSC—II -

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Answer any twelve parts from Sectlon ‘B’ and any three questions from Section ‘C’ on the
separately provided answer book. Use supplementary answer sheet i.e. Sheet-B if required.
Write your answers neatly and legibly.

SECTION — B (Marks 36)
Q.2 Answer any TWELVE parts. The answer to each part shouid not exceed 3 to 4 lines. (12 x 3 = 38)

{1 Give any three measures to reduce poverty.

(i) Give three main causes of increase in population.

{iii) Write down the definition of money by G. Crowthers.

(iv) Name kinds of money.

(v) How does central bank controf deflation / inflation in country? Give any three tools.
{vi) What is Mudarba?

(viiy  Give three differences between domestic and foreign trade.

(vii)  What is the difference between baiance of trade and balance of payment?
(ix) Name three important exports and three imports of Pakistan.

) What is budget?

(xi) What is meant by public debt?

(xi)  What is the role of modern technology in economic development?

(xiii)  What is meant by Islamic economic system?

{xiv) How is poverty alleviated in Islamic economic system?

(xv)  Who is the currency issuing authority and name all systems of currency issue.
{(xvi) Whatis bank?

(xvii) Write at least three difficulties of barter system.

(xviii) Why government takes loans?

SECTION — C (Marks 24)

Note: Attempt any THREE questions. All questions carry equal marks. (3x8=24)
Q.3  Expiain the causes of industrial backwardness and its remedial measures. ,
Q.4 Whatis the value of money and what factors have impact upon value of money? }
Q.5 What are the main sources of government income and where does government spend it?

Q.6 What is meant by economic development and what factors affect it?
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